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Suppl. EXAMINATION, 2021
(Optional Group–A : Finance Area)

Group–III

Paper First

FINANCIAL  MANAGEMENT

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. ykHk vf/kdhdj.k mn~ns'; dh rqyuk /ku vf/kdhdj.k mn~ns';
ls dhft,A
Compare the objective of Profit Maximisation with

that of the Wealth Maximisation.

vFkok 
OR

foÙk dk;Z dh ifjHkk"kk nhft,A foÙk dk;Z dh ijEijkxr ,oa
vk/kqfud fopkj/kkjk dks le>kb,A
Define Financial function ? Explain the traditional

and modern approaches of Finance Function.

bdkbZ–2

 Unit–2

2. iw¡th ctV dh vo/kkj.kk dks Li"V dhft, vkSj foÙkh; izca/k esa
blds egÙo dk o.kZu dhft,A 
Explain the concept of Capital budgeting and discuss

its importance in Financial Management.

vFkok
OR

,Dl fy‚ us rhu o"kZ iwoZ ,d e'khu 1,00,000 #‚ esa [kjhnhA
bldk vkfFkZd thou ik¡p o"kZ fcuk vo'ks"k ewY; ds FkkA bls
lh/kh js[kk i)fr ls gkfly fd;k x;k  gSA okf"kZd Ðkl bl
izdkj 20,000 #‚ gksrk gSA e'khu dk orZeku iqLr ewY;
40,000 #‚ gS] e'khu cspus ij jk sdM+ vkxeu fdruk
gksxk ;fn QeZ bls iquLFkkZfir  djuk  pkgs vkSj ;fn  foØ;
jkf'k (i) 1,20,000 #‚ (ii) 60,000 #‚ (iii) 20,000 #‚ gSA 
vk;dj dh nj 55% vkSj iw¡thxr ykHk dj dh nj 30% eku
ysaA 
X Ltd. bought a machine three years ago for Rs.

1,00,000. Its Economic life was five years with no
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salvage value. It is depreciated on straight line

basis.The annual depreciation therefore turns out to

be Rs. 20,000. The present book value of the machine 

is Rs. 40,000. What would be the cash inflow from

the sale of machine. If the firm wants to replace it, if

sale proceeds are (i) Rs. 1,20,000 (ii) Rs. 60,000 and

(iii) Rs. 20,000. Assume income tax rate as 55% and

capital gains tax as 30%.

bdkbZ–3

 Unit–3

3. iw¡th dh ykxr dh ifjHkk"kk nhft,A fofHkUu òksrksa ls izkIr iw¡th
dh ykxr dk fu/kkZj.k vki fdl izdkj djsaxs \
Define cost of capital . How will you determine the

capital of different sources ?

vFkok 
OR

,d u, mRikn ds fo"k; esa fuEufyf[kr iwokZuqeku fn, x, gSa]
le foPNsn fcUnq 1000 bdkb;k¡] ifjorZu'khy ykxr 45 #‚
izfr bdkbZ fcØh ewY; 70 #‚ izfr bdkbZA mi;qZDr iwokZuqwekuksa
ds vk/kkj ij 12500 bdkb;k¡ rFkk 15000 bdkb;ksa ds fy,
ifjpkyu yhojst Kkr dhft, rFkk mRiknu ,oa foØ; ds nksuksa
Lrjksa ds yhojst ds varj ls mi;qDr fu"d"kZ fudkfy,A 
The following estimates are given for a new product.

Break even points 10000 units, variable cost Rs. 45

per unit. Selling price Rs. 70 per unit. Calculate

Operating Leverage (OL) from the above estimates

for a volume of 12500 units and 15000 units and draw 

suitable inference from the difference in operating

leverages for the two output levels.

bdkbZ–4

 Unit–4

4. ykHkka'k ds okYVj izfr:i dk la{ksi esa ijh{k.k dhft,A
Briefly examine the Walter’s Model dividend.

vFkok 
OR

‘X’ rFkk ‘Y’ nks laLFkk,¡ gSaA nksuksa laLFkkvksa dh iw¡thdj.k
2,50,000 gS vkSj nksuksa C;kt o dj ls iwoZ 40,000 #‚ dekrh
gSaA tgk¡ X laLFkk us viuh lEiw.kZ iw¡th 100 #‚ okys le va'kksa
ds :i esa izkir dh gSA Y laLFkk us 1,00,000 #‚ 100 #- okys
le va'kksa ls 50,000 #‚ 10% _.k i=kksa ls rFkk 'ks"k
1,00,000 #‚ 8% iwokZf/kdkj va'kksa ls izkIr dh gS \
‘Y’ }kjk viukbZ xbZ lerk ij O;kikj uhfr dh leh{kk
dhft,A 
There are two firms X and Y. Both the firms have

capitalisation of Rs. 2,50,000 each and both earn

Rs. 40,000 each before  interest and tax. While firms

X has obtained its whole capital through Rs. 100

equity share firm, ‘Y’ has obtained Rs. 1,00,000

through 10% debentures and the balance Rs.

1,00,000 through 9% preference shares.
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Comment upon the policy of trading on equity

following by the firm ‘Y’.

bdkbZ–5

 Unit–5

5. izkfIr;ksa ls tqM+s fofHkUu ykHk vkSj ykxr D;k gS\ izkfIr;ksa ds
vuqdwyre vkdkj dk fu/kkZj.k dSls gksrk gS \
What are various costs and benefits associated with

receivables ? How is the optimum size of

Receivables determined?

vFkok 
OR

fuEu vk¡dM+ksa ls dk;Z'khy iw¡th iwokZuqeku rS;kj dhft,A
ctVsM fcØh (20 #‚ izfr bdkbZ) 5,20,000 #‚ izfro"kZA
,d #i;s ds foØ; dk fo'ys"k.k
dPpk eky 0.30                                              

Je 0.40                                             

mifjO;; 0.20                                             

ykHk 0.10                                             

           foØ; 1.00                                             

;g vuqekfur gS fdµ
¼v½ dPps eky dks LVkWd esa 3 lIrkg rd j[kk tkrk gS vkSj rS;kj

eky dks 2 lIrkg rdA
¼c½ dkj[kkuk izfØ;kady 3 lIrkg ysuk A

¼l½ vkiwfrZ nkrk 5 lIrkg dk lk[k iznku djsaxsA ;g ekuk tk ldrk 
gS fd etnwjh o mifjO;; o"kZ ds nkSjku ,d leku mfnr o ns;
gksrs gSaA
From the data given below, prepare working capital

forecast.

Budgeted sales : (Rs. 20 per unit) Rs. 5,20,000 p.a. 

Analysis of one rupee sales :

Raw Material 0.30                                              

Labour 0.40                                              

Overhead 0.30                                              

Profit 0.10                                              

                              Sales        1.00                                              

It is estimated that :

(a) Raw material are kept in stock for 3 weeks and

finished goods for 2 weeks.

(b) Factory processing will take 3 weeks.

(c) Suppliers will give 5 weeks credit and customers will

required 8 weeks credit.

It may be assumed that wages and overheads accrue

evenly throughout the year.
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